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� Endorsed by the CARICOM Heads of

Government  in July 2002

� An intergovernmental specialized agency of
CARICOM with an independent management
that is guided by

� The CARICOM Council of Trade and Economic
Development (COTED) on policy matters.

� A board of directors with responsibility for
strategic planning.

� A technical secretariat headed by an Executive
Director with responsibility for tactical planning.

� The Centre is mandated to coordinate the
regional response to climate change and its
efforts to manage and adapt to its projected
impacts.

� The Centre possesses full juridical personality.

� Financially independent

Operational since
January 2004

Located in
Belmopan, Belize
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